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1. Logan buys

one jar of chutney

three packs of his favourite biscuits costing £1.45 each

one lettuce costing 85 pence

one piece of cheese costing £3.75

Logan pays with two £10 notes.

Logan gets £8.40 change.

Work out the cost of the jar of chutney.

2. Jiya goes to a fruit shop and buys

three bananas costing 24 pence each

one apple costing 47 pence

one pineapple.

Jiya pays with one £5 note.

Jiya gets £1.96 change.

Work out the cost of the pineapple.
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3. Jakub buys

one packet of crisps costing 65 pence

one carton of juice costing 89 pence

one sports magazine costing £2.99

one magazine for his wife.

Jakub pays with one £10 note.

He gets £3.48 change.

Work out the cost of the magazine for his wife.

4. Ishaan buys

two adult theatre ticket costing £12.50 each

one concession theatre ticket costing £8.50

one box of sweets

He pays with two £20 notes.

Ishaan gets £3.75 change.

Work out the cost of the box of sweets.
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